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The Featured Program  Jsaal) gl )l 12 General 2022-2023

if g()=22+18x—14 Find g(9)

a) 300 b) 310

¢) 219 d)132
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if g(x)=2>+18x— 14 Find g(3)

a) 18x% + 54x — 14 b) 18x%* — 54x —'14

c) 18x2 + 54x + 14 d) 9x? + 54x — 14
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if h(y)=—3>—6y+9 Find h(4)

a) 300 b) 310

c) —207 d)207

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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if h(y)=-3y>—6y+9 Find h(—2y)

a) —24y* + 12y + 9 b) 24y* + 12y

c)12y%> + 24y +9 d) 24y* + 12y +9
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at + 11
H =
) 342+ 5+ 1

@) =79 b) 79
79 79
) 13 )~ 13
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af + 11
- t — Il
if ) #4541 Find f(4)
16t + 11 16t - 11
a) b)
48t% + 20t + 1 48t% + 20t + 1
t+11 16t + 11
c) 5 d)
48t% + 20t + 1 t2 +20t+1
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c) 20 d) 3
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h(x) =16 — === Find  h(-3)

b) — 0.8

c) 20 d) 3
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c) 20 d) 3
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if gm=3+Vm?—4 Find gBm)

a)9 +Vm? — 4 b)3 ++V9m? — 4
c)VIm? + 4 d)3— V9m? -4
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Use the graph of each function to find its y-intercept and zero(s).

y

a) y — intercept Non ,zerosx =1

b) y — intercepty =0 ,zerosx =1

c)y —intercepty =0 ,zerosx =-1,0,1.5 flx) =vVx—1

d)y—intercepty =1 ,zerosx =1.5
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Use the graph of each function to find its y-intercept and zero(s).

a) y — intercept Non ,zerosx =1

b) y — intercepty =0 ,zerosx =1 "

c)y —intercepty =0 ,zerosx=-1,0,1.5 - IOI\ X!

d)y—intercepty =1 ,zerosx =1.5 l' 100 = 2x°— 5% —3x
Y
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12 General 2022-2023

Use the graph of each function to find its y-intercept and zero(s).

a) y — intercept Non ,zerosx =1
b) y — intercepty =0 ,zerosx =0
c)y—intercepty =0 ,zerosx =-1,0

d)y =intercepty =1 ,zeros Non

MR / ahmed Ata @ 0502070147- 0566010255

Iy
f(x) = h{/ﬂ
fﬁf
= Smmr

EOT1G12GEN-Term1



The Featured Program zeal) geali I

12 General 2022-2023

Use the graph of each function to find its y-intercept and zero(s).

a) y — intercept Non ,zeros x = 3
b) y —intercepty =0 ,zerosx =1
c)y—intercepty =0 ,zerosx =3

d)y =intercepty = 3 ,zeros x Non
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Use the graph of each function to find its y-intercept and zero(s).

a) y — intercept Non ,zeros x = 3 4‘{ ’f

b) y —intercepty =0 ,zerosx =1 \\ ’l
c)y—intercepty =9 ,zerosx =3 \ Ji

d)y =intercepty =9 ,zeros x = -3 : 2%;} —2 —6x2 0

@ 0502070147- 0566010255
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Use the graph of each function to find its y-intercept and zero(s).

a) y — intercept Non ,zeros x = 3 ‘ r
b) y — intercepty = 6 ,zeros x = —3,—2 \ ,
c)y —intercepty =6 ,zerosx = —2,—1 \\ II
d)y =intercepty = 6 ,zeros x = —3,2 A\ /
B = o x
f(x) = x* + 5x + 61

@ 0502070147- 0566010255

MR / ahmed Ata EOT1G 12 GEN-Term 1




The Featured Program  Jsaal) el ) 12 General 2022-2023

Use the graph of each function to describe its end behavior.

@) lim f(x) =~ , lim f(x) = o0
b) lim f(x)=co, lim f(x) = —0 _\faz

©) Jim f(x) = o, lim f(x) = —o0 AV Ny EEEEER
d) lim f(x)=co, limf(x) = e f(X) = 4x* — 6x+ 3x
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B ANMBE e SAR D5
b) lim f(x) = e, lim f(x) = 0
c) Jim f(x) = —co , lim f(x) = —oo

@) lim f(x) =0, lim f(x) = oo

Use the graph of each function to describe its end behavior.

12 General 2022-2023

f(x)
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Use the graph of each function to describe its end behavior.

a) lim f(x) = —oo ; lim f(x) = o

X—— 00 X— 0 xz 2x+1 #
b) lim f(x) = , lim f(x) = — f =L FHXF 15

X——00 X—00 x—3
6), Jim f(x) = —co, lim f(x) = —co =23 37 =164 T6x
d) lim f(x) = o, limf(x) = o A —16 I

X——00 X—00 {/ I I

il
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a) xl_i)l_noof(x) =0, )lci_)lgf(x) = oo
b) lim f(x) =co, lim f(x) = 0

¢) lim f(x) =4, lim f(x) = -4

@) lim f(x) =3, lim f(x) = 2

Use the graph of each function to describe its end behavior.

12 General 2022-2023

Yix?¥
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Use the graph of each function to describe its end behavior.

B ANMBE e SAR D5

b) lim f(x) =0, lilglof(x) =0

c¢) lim f(x) =—o , lim f(x) = — B o
PN
D lim j(x)=co, limf(x) = co flx) = —16¢

I 2 + 5x+ 2
1
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Use the graph of each function to describe its end behavior.

B ANMBE e SAR D5

b) lim f(x) =0, lilglof(x) =0

X—>—00

_ 12+ 4x
f(x}-l -y 5
12-8Y-4"10

d) lim f(x) =, lim f(x) = o0 N

) Jim, £(3) = =, lim f(x) = =0

3
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Find the average rate of change of each function on the given interval. |
g(x) = —4x? + 3x — 4; [-1, 3]

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval. |
g(x) = 3x* — 8x + 2; [4, 8]

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval.
flx) =3x> — 2x2 + 6; [2, 6]

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval. |
flx) = —2x3 — 4x% + 2x — 8; [—2, 3]

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval.
flx) =3x* — 2x% + 6x — 1; [5, 9]
a) 472
b) — 2550
¢) — 309
d) 4430

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval.

fo) =522, 15,12]

a)47.2
b) —0.45
c) 0.05
d)4.2

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Find the average rate of change of each function on the given interval.
x+5

f(x) = x_4; [_61 2]

a)47.2
b) —0.45
c) 0.05
d)4.2

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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x? =3
2
o e gl =23

o). [fog]ix) = |x|

lx)=x—6forx=—3

@ 0502070147- 0566010255
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The Featured Program zeal) geali I

Findfog. f()=—25 gW)=x>+6

) [fo gl =— L —forx# £V3
o). [Fo gli) =~

o). [foglix) = |x]

d). [fog]x)=x—6forx=—3

@ 0502070147- 0566010255
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Findfog f(x)=vVx+4 ) =x>—14

1

a) [fog]x) = forx # +V/3

x2 =73
2
x2+3

. [fo glix) =

Q. [fo glix) = |x

d) [feg]x)=x—6forx=—3

@ 0502070147- 0566010255
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Findfog f(x)=x*>—9 _g(x)=v:r+3

o [foglx)=—Fforx#£V3

) [fo gl = 213
. [fo gl = Ix

d). [fog]x)=x—6forx= -3

@ 0502070147- 0566010255
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Nx+8

b) [fog](x)=_x+8 forx > —8

o [fogllx)= |x+2]

a [foglx)=Vx2+6

@ 0502070147- 0566010255
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o [fogllx)=|x+2|
d) [fogllx)=

MR / ahmed Ata 0502070147- 0566010255 EOT1G12GEN-Term1
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Findfog. fx)=+x+5 gh)=x"+4r—1
a) [fog](x):Bﬁ—'G_;xforx<6

) [fo gl = — o forx > —8

o [foglx)=|x+2|

a [foglx)=Vx2+6

@ 0502070147- 0566010255
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Use the graph of each function to graph its inverse function. 4
o
PITT] [ L L} A A
2y =110} hf=ﬂ‘r‘0rl. i
4 MT T T
—T1 -8 |-4 (O] | 4 ¥
a)-; —4 10| | 4 | 8% b) 2 -4 10[ )| 4 | 8x -/E]
N —4 \
o (_llj\_ Ty = o0 l -
¥ A y=1 i gy =19
Ll 7 [ I
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Use the graph of each function to graph its inverse function.

P y
—]IJ.J=I(_1(X)|'

MR / ahmed Ata @ 0502070147- 0566010255 EOT1G12GEN-Term1
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Use the graph of each function to graph its inverse function.

Pl 1] 8

=~
i Ty T4 T8
- - X
R |4 =gl
¥ y= 1% - —4
Ay anas H 1] |
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Use the graph of each function to graph its inverse function.

ANEN y
—]I_lv‘=1(_1(:f)|‘
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